K| s=1: 250

No, 50. 4 1fF T &H%E T s=1:100
‘//ix;
N 2
i ! BPAF I S ¢ s=1: 100
A-2

~~ BM=706. 71
N

j=l
’ S
/ S S
i S
S
S
S
o~
3385 \
TP /
pso @ 3327-1
AN Mm%
ST
P11 ]{ ANE S
- 6 7 D)
é?,%"\/
R?? \7/ 3?35 3
Z]@[ / f TEHRHT
e
=
& // koS W
gg 33351 HKES
. @ BRI
a/<
) 7 —
k= —
¥ & s A Bt 800 % 800Jk 850 Hﬂj},@: =
b/ 5 , ‘ =R i [X
EYA iy
ﬁ % Om A5 AR SERIT HOMGE B S R T
gd %|ﬂ1/7| *F- i 4 ijl 1+ 100
i T R /MR PN AR
N\ \J T34 749 - 8072 #
it e T 3
E [ I
332()’2 It i E‘%mgﬂ %5%
o / : L]
& =3 2 15 B
/\)2*1 ~6716. 602 45447, 3711 - PR A 5 i
/ A-2-2 —6753. 436 —45461. 145
A-20 -6761. 776 -45523. 152
| iR LW EREE e
P6. 75 WL EALH




W T 1=107.5m  W=5.0m~2.9m
710. 000
705. 000, \BE 2 BF350[ES
8
1: 500
DL=700. 000

L=9.

5 D=0.1p

7

1. 66%

) BL

*

J&

1. 50%

1. 50%

—F

b JE R T R M-25 10cm

Iﬁé%ﬁﬁ?z:ymFmﬂ

PRI [X]

JE T

5 TN A4 B T T

(=3
%) S=1:50
MIJE 749 « 8075 #t & Fno4E JH fits 147
= = S8 03 8 3 5 88 B8 5 5 s 8
i oE S © < < < < 222 2 02 © © ©
ge & g g e g & g g g g
1.50 2. 80 0.70
o= g8 3 = ] 553 8 ¢ ] 2 538 3 ! 13
= g8 8 8 g 888 g 8 s g  ssgs S Lt
b
1. 50% 0072
utaE 8 8
° ° HEFER T oy T
BxIs 55 8 e b T8z = 3 8 8 — - !
S o e S S s 56 o o P e e FET FHABR)JET A3 20F  4cn $ R A
2 o b JE AR T R R M-25  10cm
h o o o = o ~ o o w N
ek 38 8§ ¢ s gz= 28 ¢ g s 3 TR T ARG R4 1ocm
— 159 ™ L O o © =< > =4 =
- B M E A 15cm
BOpE OB g8 8 8 8 8 g8 8 5 3 8 3
S o ~ =] © bl © © ] w o
< S 8 2
MAES gg 8 8 g sg= 8 8 g g 288¢%
5w 2 S 8 £x 8 8 =& 8 2 de' g ¢
iz IP. 1
THE#RER 1A=85-02-02 > 53
g = 1A=2-32-21 1A=13-37-59
A 4 B e
TYDHE .50%
J N,
A F 20 B AR R B 1 s=1: 100
o o 8 = = 8
. o (=} Lo ©
(e} o — N [ap] Sy
(=)
o
F1 th 4B 174300 X 800 L=10. 0m B 1 )P S AT 300 X 800 L=10. Om B 4B AIIE300 X 700 1=30. 0m e ,_-
£/
e - FI=706. 97 AN B AR R FER T RLAME B B T
= TR BLULAR  VSEHE / - 7= -
;. ; T P HRGIS I ?I2/7| SEWT I - B IT“SI 5
- T 7 ; — ; 7 ; 7 7 r r y ; = — 7 r = — —
706. 00 N N ! & . 22 — N — P :DI 706. 00 i T /N 9T N AR
= = =g = = WT5E 749 « 8075 #
- = = = = il T i o
| 4 [ I I
: : 3 : g : : T 4
g E g £ £ = < 5 B B 7t
| Lt
5 B8 = = S g ] 1A £ 917
5 2 - S 3 5 2 A (LA
— - = = < ez |




35.00

GH=706. 86
FH=706. 99

60. 00

GH=706. 90
FH=707. 05

DL=707. 000 DL=707. 000
WA 35. 00 A 60. 00
$i# 1 c 1.1 it c 1.3
A c1 0.8 B c1 0.0
2 Ava B 0.1 I ST B 0.2
R B1 0.1 R B1 0.1
HEE LR | B2 0.5 fEE LR B2 0.0
20.00 FRE#IE | L1 | 3.4 53 70 RREHEIE | L1 | 4.8
T GH=706 oy A L2 4.46 _ B L2 4. 88
EH:%%%’. 8915 F 6H=706. 89 ik
3 L3 0.3 FH=707. 03 +3 L3 1.2
- ‘ FH=706. 92 7.
DL=707.000 1.50% Gy, DL=707. 000
1 FlI=706. 13
W= ¥ bR 53.70
TN 20. 00 ‘ it ) C 1.4
#i# 1 c 0.9 3] c1 0.0
i C1 0.7 % ST B 0.2
A B 0.2 5 B1 0.1
HE R B1 0.1 IP1 BEHHE| B2 0.0
‘IO 00 fEE LR B2 0.5 50 41 AREREE | L1 4.8
GH=706. 88 RRERE| L1 | 3.4 - - P 12 | 4.88
FH=706. 94 GRS L2 | 4.46 g:;;?)g ?); +3 3| L1
5.00 43 L3 0.7 ’
12 1.38 2.58 0.42_0. 30
= 5 s FH=706. 91 ‘
DL=707. 000 v ; ;_./a DL=707. 000
__FH=706, 07
! I 10. 00 W P (50.4))
$i 11 c 0.9 it Hl) c 1.8
B 4 C1 0.7 R Hi C1l 0.7
% T B 0.3 Ji ST B 0.1
LR B1 0.1 LR Bl 0.1
i LR B2 0.5 feE LR B2 0.6
3.00 Rpe#iE | L1 3.4 46.03 ARREdIE | L1 6.9
GH=706. 86 A L2 4. 46 T GH=706.87 EES L2 7.96
FHT06.93 oo cano Y TREE FH=707. 01 £ 13| 05
.60m
5. 00
.12 1.38 2.58 0.42 0.9
DL=707. 000 .. L b B R 3
= A
_ Ao RL7%07. 000
S — T i" ; ] B30
[y = e
‘ A 3.00
i H c 1.0
WAE_ Sl Wl 46. 03
5 B ot 154 c 1.0
R Bl 0.1 - = S
IR $i cl1 0.8 jjf “
0. 00 fEE R | B2 0.5 e 5 o1 ES
. Al E | L1 3.0 — - a3 . .
GH=706. 85 s : W BU | o1 | | BF05ARME  SEERMTHEMMGH R G T
=706. ES L2 | 4.46 . - ? e
FH=706. 92 12 5 LM B2 | 0.6 §|3 7 I KR (1/2) i IRERL
<P 0.3
RPME | L1 3.4 . ;
ATiT49 BRI E | o TR i T R /T N G H
A .00 il % .
W5 749545 i 18 7 " 43 L3 0.5 B]T_‘j749 ° 807%5‘%
DL=707. 000 ds o S - 2l [Z | ﬁ| [
- OO OO N PR 3 c1 0.0 5 I 4 =t
-1 ST B 0.1 o T A B
R B1 0.1 Lttt g Bk
PR — BEES
fRIE LA B2 | 0.0 Y 5 £ 20
REE#iE | L1 0.8
E—. N —
RS L2 0.8 | iR TAR
R L3 0.3 RSN AT H AT )




EP
104. 95

GH=706.57
FH=706. 60

DL=707.00
bLIDS 104. 95
J 1 c 1.2
PR cr| 0.0
%32 B 0.0
peiil=y B1 0.1
S b HEE B2 | 0.0
[P3 rﬂﬁ’*%f L1 2.6
95. 90 e '
Y- v - - -
GH=706. 75 ik Lz | 2.6
FH=706. 75 +30 L3 | 0.2
Gl EE | L4 0.3
DL=707. 00
TP 95.90
8 H1 c 1.3
73 c1 0.0
T 3T B 0.1
i Bl | 0.1
fEE LB B2 | 0.0
780 00 REE#IE | L1 2.9
GH=706. 88 o -
FH=706. 92 ik Lz | 204
£ L3 0.2
b7) B 34 1 L4 0.6
DL=707.00 g
TP 80. 00
8 HI c 1.4
=i C1 0.0
T 3T B 0.1
HLR Bl 0.1
1P2 fe bmE] B2 | 0.0
66. 07 RELTR
_ R iE | L1 3.9
GH=706. 92
FH=707.07 GRS L2 | 3.98
13 L3 0.4
2.38 | 2.50 Ul Hu ik | L4 0.4 ——
2 Jith
DL=707.00 1.50%
| 43 5 A Eiﬁﬁﬁiﬁﬁiﬁﬂﬁﬂﬁ(ﬁj;i
| ; Fl K] YT ) R
TN 66.07 : :
Py c 13 S iy T /N9 PN Al
A c1 0.0 BE}EMQ . 80&%% .
—— Hr B i3
e P ol i [] [ [
R BL | 0.1 i T R R
LR EETLE |
RREE | L1 | 4.8 | E—- e T
prem 2| 4.8 A e
LR L3 | o3 B 2 s |
2 2 ] t&&mq




B A ) B 8 & #E B A

300 x 700

B B %) B {3 75 1 B
300 x 800

1 2] B R W 1

B B8 4 & 75 it i A
300 x 500

S=

1:100

B 8 4 B A 7= fit i A
300 x 600

B FA %) e {8 i3 it i A

300

x 700

B FA %) e ) i3 it i A

300 x 800

420 420
420 ,;
420 45 330 45 420 ] 495 320 545
45 330 45 | 455 320 545
S o
> 420 455 320 545 - 3 l S
A
> 4% 320 545 , L2 J| 8 At
= >
i ] =] 8 [
=7 - O
- S J| 3 ) \
o o
o < S
S S e =3 V = o = S
(o] ~ o O o A I=) 0
}= Y =) ~
<t o ™~ [{=)
© s
S 3 60 300 |60 S S o 3
60 300 |60 T 60 300 |60 7 7 6( 300 | |60 T 6( 300 60 ? 6( 300 60 7
(N —Favhy-+ (=4 {1 —bavhy-H = (N -bavh)-+b o AN —bavhy-+b o {un —bavhy-F N —bavhl-b e
‘QLO L Qm o LLO r O M\ v o
18-8-258 S 8-8-2588 e To-s-2588//| S 1882096/ | ‘ 5 Lo
:,O 7,8 ‘_>,o L,o o ,o
RC40-0 o RC40-0 — RC40-0 o RC40-0 o o o
- - — T ye— Y— "—
520 920 520 920
620 620 620 620
HEE (10m%1=Y) OB R CEMmEBH) (1om 1= Y) B OB R CEHBH) (1om& 1= 4)
& i B itHE BE) #E w3l B BEEENEL R ¥ & 3 i e Myl wa
OSHE AT Z % | 300 x 800 10+2 * 5 0SH %l i 300 x 600 10+2 *x 5 0ST 2 % 300 x 800 10+2 * 5
AT -RavhY-b 18-8-25BB 10%0.52x0.1] m3 0.52 JREPETY 18-8-2588 10x0.52x0.1 m3 | 0.52 A" =23v9Y-} 18-8-25BB) 10x0.52x0.1] m3 | 0.52
g s 10x0.1x2 m2 2 B 10x0 1x2 | m2 2 i 10%x0.1x2 m2 9
E%_%ﬁ Re-40 10x0. 62 m2 - ‘_3'2 BEER RC-40 10%x0.62 | m2 6.2 BEER RC-40 10x0.62 | m2 6.2
N -t t= 18-8-25BB m3 |BlEEE P a— 18-8-2588 m3| BlEEt L N -b t= 18-8-25BB m3| B £
HHE® (10m % #-Y) HEE (10m&Ef=Y) oM R CEBSRH (10m = 4)
% [ ] iE R B HE % L] B itE R B f 8 B Al B e |me B
OSH A Z % | 300 x 700 10+2 & 5 05 = % 300 x 500 10+2 x 5 0571 Z B 300X 700 0=2 * 5
A -R2V9Y-} 18-8-25BB 10x0.52x0.1] m3 0.52 AT =RV~ 18-8-25B8 10%0.52x0.1| m3 0.52 R 18-8-2588  10x052x0. 1 m3 | 0.52
B 10%0.1x2 m?2 2 B 10x0.10% 2 m2 2 T, 10x0 1x2 | m 5
BEER RC-40 10x0. 62 m?2 6.2 BEER RC-40 10x0.62 m2 6.2 REER 020 ox062 Tm | 60
o -b t= 18-8-25BB m3  [BigEtE fon-b t = 18-8-258B m3  |BligE L ; : — = Y
o -b b= 18-8-25BB m3 | Bk E £ 5’%1‘}@
A0 5 AR WY HUINGHE B o B T
; o
H e
JE i T 1 /0N 3] PN AL
JH 749 - 807 7= _
mrl o @l I 3
£ 5 # i
i T A % R
2 B 1
FEE
R 5 £ 17 2
2 A Rl |
45 2 A T{H}Zfrﬁﬁl




T 1E

S=1:100

K

800X 800 X\850

L=p, 0m

1100

1000

£ 7K o

S=1: 20

PRI

1100
150 800 15
[Tsl
sss0 | | || mmso
“l X700
2
M X
1100
150 800 15
X | ‘9%
S (=3 ‘ (=3
\8300 s, 0%
<700 | B350
< & ——
2 FRAERCI0~0
15J 800 15
1100
1200
LB BB
He IR
1.20X1.20 = 1.44nf
M (FE7 7>y —7 v 40~0) t=15cm
1.20X1.20 = 1.44nf
v} P

(1.10X1.10+0.80X0.80) X4 —0.35X0.40X2
-0.30%X0.40X2 = 6.90nf
a7 Y — |k (18-8-25BB)
1.10X1.10X1.00 - 0.80X0.80X0.85 —0.35X0.40X0.15

-0.30X0.40X0.15 = 0.63m3

MR 7 oy 7 (AfR)

S=1 10
220
50 _120_50

E3 €¥ 5

3 T

=1

= RC40

220
HIESER 7 m > 7 (AR 10m¥%4Y
% i B B |HAL % | =
B R 7 aly 7 AR L] 16.5
2/ V—k18-8—25BB | m°| 0.18
il e nf 2.0
pro o3 #| RC40—0 m 2.2
S B OE nt 2.2
I
H F 7K #f 11 A
S=1
1E 1 X - i [
400 400
35 330 3 50 300 5

400
365

250

15

FER R F 7 1) 2 v A EEE

40 200

BF300

300

260
___

2 k=27 Y — h =2500kg /m3

2 WHLELBF300 (M#AY) =146ke/2m
146kg +2500kg = 0. 058m3/ 2 m
0.058m3+2=0.03m3/m

2 Yl =7 Y — | =2500keg /m3

2 YA BF350 (M#AY) =193ke/2m
193ke +2500kg =0. 077m3/ 2 m
0.077m3+2=0. 04m3/m

10
A0 1 [
400
365 35
350 5

‘ @200‘
P 250

5% it [X]

43 i1 5 A E%W%@EﬁgﬁLi
Fid " —
i 1 H R

T i 0T R /T PN G
HTIE 749 « 8075 #¢
W oS TR i
A E L
S o T R
AT
Etatt
TR AT
il e EALHA
At EALEAH




F66. 07 ( I P2) A

S=1
/
/
60, 00
Lo ==
EHLEUEL mifE
0.96 X 0. 05
©® 1.18%0.10
S o = 2| A
MR EmAEEE
KH KL S fii
1 3.57 X 0.88 = 3. 1416
2 3.26 X 1.69 = 5. 5094
3 3.20 X 0. 86 = 2. 7520
4 4.08 X 0.33 = 1. 3464
5 5.21 X 0.22 = 1.1462
6 1.18 X 0.10 = 0. 1180
7 0.96 X 0.05 = 0. 0480
& 3h 14.061
1/2 7.03nf

150

0.35

a2y ) - | R

JEEHEE  t=0.30m

HE gy ) - R L
4.00X0.35X0.30=0.42m3

52 i [X]
iH

_5—3$E5$E€ S i T LA BT g
. i .
P77 s H IEE
i BT R /N N AR
MT3E 749 - 8075 #
= T ™ T
d 1 HEE
E iy T A 5%
o B A
it i
| T2 5 i
IMEQ& EEH AT
I%ﬁ%ﬁ LA




	1,平面図.pdf
	2,縦断図.pdf
	3,横断図1-2.pdf
	4,横断図2-2.pdf
	5,VS構造図.pdf
	6,構造図-2.pdf
	7,取壊し数量.pdf

